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. This question paper contains 30 questions in Part A(General knowledge) and 140 questions in
Part B(Psychology, law and Police related subjects)
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2. The type of question paper (A, B, C or D) should be shaded in the answer sheet using blue or black
ball point pen. TREAnswersheetwithoutshading the iype of questionpaper willfiot BEe 1 luated.
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5. Each question carries half a mark.
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- The answers to the questions should be shaded in the relevant cirlees using blue or black ball point pen.
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ulent Gl ab.

. For each question only one answer is to be chosen and shaded.
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8. Forwrong and improper shading, no marks will be given.
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.. Write the Registration No. in the question paper — LBy sretwenem Gasirallggnaficd ST(pSLD.

10. Write the S1. No. of the OMR answer sheel in the question paper at the appropriate place.
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11, Ifthere is any fprinting crror, or error in page No. in the question paper, the same should be brought

to the notice of the invigilator immediately.
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All the questions are bilinguial except language questions (English & Tamil).
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PART ‘A’ : General Knowledge
————
uGs ‘9’ : Gung oy

1. The Gupta ruler who was hailed as Indian Nepoleon
A) Kumar Gupta B) Chandragupta II Vikramaditya

d)’ m\;nﬁ&lpl.a D) Skandagupta

. @B8w OpiGunelwsir ereip Lyagpiin L @UE 0 Fwmeni

A) @ @list B) @uewmb spBu@is eldownnBgwu
C) s@pgBn gz D) svais @i
2. The founder of the city of Madras
A) Dupleix B) Robert Clive
C) Sir Thomas Roe D) Francis Day
2. Qaeranen paeny Hprafwarni
A) 1gurGer B) gnuil. Renerer
C) &t amoev Gon D) Sorerfeb G
3. ‘Sathi’ wasabelishedby :
A) Lord Hastings ‘B) LordWilliam Bentinck
X "DAILY
3 ‘JQ' @1 Ad Heui __if = 1§ I _ !
A) Gai B) eflebelush Gisingmr (foy
C) Mlitier i DY sieer (ML
4. The birth place of Renaissance was
A) England B) Germany C) Italy D) Russia

4. wpnowisAuler snusib
A) @mERenis B) Ggied C) @észnes D) geypwn

5. The West flowing river of India is

A) Narmada B) Krishna C) Godavari D) Cauvery
S @pRuwnalsr GuopHe Limuth BEwTEh

A) piwsn B) &@mapemr C) CGangmeau D) &rQGauf

6. The important sugarcane producing state of India is

A) UttarPradesh
C) AndhraPradesh

B) Karnataka
D) Kerala

- @pBurelar upsPw amibly 0. puSS Cadius wmfleo @D

A) 2 38mACsan
C) wpBrirGsein

B) sigm s

D) Gagern
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7.

. The G

For becoming a Lok Sabha member the minimum age limit is years
A) 21 B) 25
C) 30 D) 35
. ésaenal 2. QleTT JQUSDETT GADBHULEF QUG e H,ETBIBET Y (HLD
A) 21 B) 25
C) 30 D) 35
. The number of official language in India is
A) 14 B) 15
c)y 18 D) 20
. @dRwrallsd pymBaddaiiu i Cunfaeier sisrenflsena
A) 14 B) 15
C) 18 D) 20
. Money Bills can be delayed by the Rajya Sabha only for
A) 30 days B) 20 days
C) 14 days D) 7 days
. ABwBsrzndasr wifle seanferred sidseer Frlser i @b sriosliu@dsomb
A) 30 Brc s T B) 20 g aer
C) 14 priaer D) 7 pmaeir

norof a state is appointed by;the m I I Y

A) B) Parliament
C) ister D) President
. @@ wiflasRer oy esnen BHlublis
A) wéasen B) wmpremiwsiipid

C) upged syenindeart D) @y wrss senevauri

. Price Discrimination is possible only in

A) Duopoly B) Oligopoly
C) Monopoly D) All the above

. aflenew Gugib sr @ge snesiiLRieus

A) @meuri uppmiflento B) fleBauni wpppifienio
C) wppgufenn D) syenewdgin

. Too much money chases too few goods refers to

A) Cost push inflation B) Hyper inflation

C) Demand pull inflation D) Profit push inflation

. IBEOUQUTeT Uesiih LA&S GDES LIGTL BIST FI0550US

A) Glasvey 2 g Liewr aldsid
C) Gsenaw @upiiy uenmraldsih

B) wens Gaust) uemraldasin
D) @enr o gg vewaldsin
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13. Production refers to
A) Destruction of utility B) Creation of utility
C) Exchange value D) None of these
13. 2 pugd sreiig
A) Lwsium g & syfley B) vwsiiun et s geundmpen
C) wapgy @iy D) sigrapflsenan
14. The demand for the factors of production is
A) Direct Demand B) Effective Demand
C) Derived Demand D) Aggregate Demand
14, 2 pug@sanen smyenfaehcr Ggenar sreiriigy
A) Cprys Gaeneu B) 2 m®s Goeneu
C) Qupiin’ L Gzenen D) g GOwniss Gaenen

15. When goods are imported for the purpose of export it is called as
A) Foreign Trade B) Home Trade
C) Entrepot D) Trade

15. appiw@éeaer QL ser Bwiégwd Qedudin_rd semar — erer
N PEELILIE LD

16.

. Qudé aed @i suint QeiuciLGeaais oflin’ Haedd STCIBUD Djenens g
Qemiaesh —__ Garems

A) apsiip @)_rizefed B) @@ @ sisehs

C) oo @i D) mrsing @ misehs

17. A Hollow metal ball carrying an electric charge produces no electric field at points

A) outside the sphere B) on its surface

C) inside the sphere D) ata distance more than twice its radius
17, hiegyr’ 1 th Gugp adrefpp Gamen's L e a1hal Lsiofufeh e ewgens

IDUGSFIS ?

A) Canend@Peir CauelGu

B) @anerg@enr Guopimnieh

C) GarergBeir o ehrGar

D) sigeir yrdBer @sior i@ Gine 2_direr BN08 B0
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18. How much energy is released when one amu is wholly converted into energy 7

A) 1 Mev B) 200 Mev
C) 931 Mev D) 106Mev
18. @ amu flenpurens HDOTH wappll u@bGuis, Qeeflall GL@h HpbpadleT sieTay
A) 1 Mev B) 200 Mev
C) 931 Mev D) 10°Mev
19. Among the following, which atom does not contain neutron ?
A) Helium B) Hydrogen
C) Oxygen D) Nitrogen
19. (Aereugseuamauppisin, By grer Geveurs sigmf 15l ?
A) afaflwih B) amapi yggeir
C) gydeiggein D) enpi uggeir
20, Which gas is used to weld and cut Iron metal ?
A) Ethylene B) Ethane
C) Methane D) Acetylene

20. @by 2 Geunsgeng @) enenda whpih Geul L LwsTLIBID eure) S5 ?

A) as8 B) =&Czer
C) 1igpGgein D) @ 1gear
21. Bi mutation is reported in
A) B)
C) Neurospora D) Drosophila
2. 2 BICHFREN Lippid @GP ser@UyssILl LSl
A) Gsmemb B) ensai
C) PuyBorevGumgn D) 1 BonGemlsveun
22. Which of the following is a C4 plant ?
A) Maize B) Sugarcane
C) Rice D) Amaranthus
22. 9erasmeusmaippyer argl Cy gaaugth 2
A) waasrGererd B) s@ibLf
C) Gpe D) sywonrpsev
23, Who first developed Vaccine for ‘rabies’ in man ?
A) Robert Koch B) Joseph Lister
C) Louis Pasteur D) Stanley
23. welisfe Gulsv GBrils@ wpser pselsd FEULTL st @t
A) @onruil Gang B) Gggrer eflevi i
C) syl umevir D) evGiaald
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24. The most abundant ‘Green house gas' is

A) No, B) O,
C) Coy D) So,
24, QuEBLbLITETENIOWTE STeLILIBILD seiennmy. oIF amy
A) No, B) 0,
C) Co, D) So,
25. If two straight lines are perpendicular to each other, then
A) myxm,=-I B) mxm,=1
C) mj=m, D) m;=-m,

25. Queni® CpiGan@asr geanmétardn Gon@ag srefsy

A) myxm,=-1 B) myxm, = |
C) m;=m, D) m=-m,
2 y2

26. The length of the semi-major and the length of semi-minor axis of the ellipse —— + -@ =lare

A) (26,12) B) (13,24)

C) (12,26) D) (13,12)

y. 2

26; 7 + 760 = areirp Feiraur’ L G@eir syeng QpLida wppI Sjeny GOPIF Fenrieir

A) (26,12) B) (13,24)

C)/(12,26) D) (13,12)
21 "gmruuﬂ (g'n.-?g];" stengy Cunppli@ueari

A) Bgbugprger B) GsaCrwiiumainemi

C) @erps @y sgsarmd D) gn. 9. Gagnsrenen

28. Bpmiyonestaeng @upplusni wiri o
A) @emmigigoavsne srhly B) s.opiiiysveur
C) seraungliyeeai D) an@b yeveuri

20. A Sonnet is a short poem writtenin —

A) 14 lines B) 10lines
C) 12lines D) 7lines
30. ‘Euphemism’ istheuseof —__in the place of harsh words.
A) Offensive word B) Inoffensive word
C) Eponymous words D) All the above.
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PART ‘B’ : Psychology, Law and Police related subjects

o ‘9’ 2 eraflwed, FLL LD MWD FTOUNSID FIDDBSLILIL L el
&3 Ul 'SlenD {37

31. To whom the original post mortem certificate has to be sent by the Medical Officer ?

A) To the Judicial Magistrate concerned

B) Concerned Police Station

C) To the Inspector of Police

D) The Chief Judicial Magistrate concerned

3L w@dsion agraiai 159Grs LAGaTsamar s snsiflener wmEE e Geusm@id 2
A) mibwpsin’ . gopelus BFwetn sHant DT 61 (%

B) sbwpgin’ . snaus HevewwsBnse
C) wyuiammenit syauisend@
D) sewewn gppailud Eisern sEH et BT 515 5 (5

32. A Police Officer can investigate a non cognizable case
A) On orders from Judicial Magistrate
B) On the orders of District supdt. of police
C) On the orders of the Station House Officer of the police station
D) On the orders of the District Collector

32 maueh giguausuii 11 d&d a3 @HDib FBWEFUILL L aupieng wirmes

D) All the above

33, wnBdstiuc L Ui Bpdacin_ G disafle yamt Qadiwemb
A) pBwspid
B) sneuchgienp seiwanenhiuimeni
C) aneusd Henavuwith
D) Gupsew_ semengg @)L miselgyin
34. In a complaint of theft of an article, when value is less than Rs. 10/=
G A) The police should Register a case and Investigate
B) There is no need for the police to register a case
C) The police can refuse to register a case
D) The affected person can take action directly
3. 90 FE@ yamis e 10 wPcndpas 8Cp o srar Qummer DeL.@ Gumemmed
A) sreusvgienp eupd uBey Qadig pLcugdens si®Es Carsm@h
B) arasbgienn aupse uBe) Qsdiu Gasimgu syaiflunh G
C) anausvgieop anpde uBey Qedw wpédssund
D) wn@ésiin’ L an Grmgwns pLang dena erRéssumh

/
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35. Properties found on the corpses of unidentified persons, who have died of natural causes,
shall be taken charge of by the police and sent to which of the following authority ?

A) Judicial Magistrate B) Thasildar
C) Village Administrative Officer D) District Superintendent of police

35. Qupena anyemmisash @pig Guner syenL_wmenih Cgilung 1Hemmiaeficr Guogysrer
Glandgidgaener snaish grenpuieni @ELLDB WThdE Jopen el eads Gaversr(pid
A) p@sgeop pGani B) aut”ni’ Runi

C) &gmo Hicurs sayeusvi D) wran’ i snaisy sewasaenflliument

36. Can a Head Constable or a Constable declare an assembly as unlawful ? If so/not, under

what provisions ?

A) Can declare-P.S.0 703 CrPC 36

B) Is not empowered-P.S.0 703 (d) r/w 129 CrPC

C) Can declare-P.5.0 703 CrPC 97

D) Can declare under emergency P.S.0-703 CrPC 147
36. @ gwwenn srawGon syeeug SO F1uwGIT @@ L g 1t aIGITSTeT Ful Lth
sieingy eflenbLjens Qawiw sBanmb Qansim_augr » 2Lb/@evenev, erafley e1ig 1IMeysafeir Lig. o
A) opth am.gﬂ.cg 703 @.m.5 36
Bl o sagib

B) Make G.D. enury and report to SHO
C) Only in Minor cases D) Only in Grave Cases

3. ypssrasi o Qumpitifgysien g Lo T sl 5 D oyd (ELR)uB ey
Glawiu B smmb Canedr_sugr o

A) b, 1p.s. . UBey Qedwenih

B) @ung pm’ @pinded uRey Qrdig Qanam® smesh Hensvus UGG s
Qaurur Garsdr@ih

C) By anpa@aeale ol Gk
D) Qumriigpphisaiies i Gib

38. Station crime history consists of how many parts ?

A) 2 parts B) Onlyonepart  C) 3 parts D) 5 parts
38 sneush Revewwd @Op urwT 16 HemEN u@GEae Claneam g o

A) 2 g Bser B) 9Gr 90 ued

C) 3 ugPassr D) 5 ug@asr
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39. Tn respect of charges of tortures or death or grievous hurt caused by the police the senior
officer receiving a complaint should after a general enquiry, report the case at once 0

A) AD.LG. of police B) A Superintendent of police
C) Inspector General of police D) Revenue Divisional Officer

39. @0 BUGHEG R BPreuens G, tngewIh Seevg LBETUGLT e Glenpuilenane

o e maEELILIL LS ST Lj&mi aupomder sens GlLsLD 2. Wi B @i QLITgIQITeT G
aflengenet FLABNG 2L @nguis S WAEEE S g iemalds Geustn@id ?

A) sreus gepg Flenend Fenavalil B) sreusw seiranesiliiuimeni
C) snaue genps Gensvar D) Gam’ i g Swmeri Dju it Ehd &
40. The personal files of the Head Constables in the Taluk police are maintained and kept in the
custody of
A) Sub divisional police officer B) Superintendent of police

C) Deputy Inspector General of Police D) Inspector General of police

40. graydasT ETas Blenavur FEnaenLd: STRIGTHEFENL_ LI (o pevd Qamlisen wnmpeL
Qunpnied eardg ugnisféstiu@R g ?
A) 2.0 GarlL sreusy sBamh B) smeusw sewamasllliuimeni

C) anais glenps sienews genwart D) smeush gieops senavau

41. Who.inthe village is provided with a badge with inscription * Village Police™ ?
Constable B) Village Head man

C) ank D) Im
41, Monobiselle sTaubHE “Eamp aresai "eTeD aflcveney @upRISLILIL. g

A) CIULICT = B) S sevsuaifh@

C) senevwnié@ D) aiewiBnsd

42. Which P.S.0 states persons whose finger prints are to be taken for record ?
A) 802 B) 803 C) 804 D) 801

42, e1ps Freusy Flemey HLenewn red, sTaUiEEBELL aIlTe LR eysener 2, EBDATE sIR S35
Qansrer GeusiaBib e16iT) S DIFDS! ?
A) 802 B) 803 C) 804 D) 801

43. The possession of lathi by constable during large assemblies such as festivals, processions
and the like is mentioned in PS.O.
A) 375 B) 537 C) 735 D) 374

43, Ppedpraaer, saieseviiseT, pseduar Guan QLD Gal LIS FnBILD FIOUIGH 6D

sgyauafer Guilsy SLOITES CILIBILD HTUGTEHET QUPSHSELOTET BLg.HenaT eauggd Olaerer
Gaushi(PLb sTex Fapild HIT. 6.2 GTEHT.

A) 375 B) 537 C) 735 D) 374
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45.

47.

47.

48.

48.
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. Use of handcuffs to the accused is dealt in P.5.0.

A) 641 B) 640 C) 645 D) 650

. oaPéE eaclesig Cur@ss Lupl GELIIEH aauch Eleney et TSHT.
A) 641 B) 640 C) 645 D) 650
Police officers are forbidden to issue one of the following to private individuals
A) Copy of ELR. B) Character certificate
C) Copy of search list D) Witness summons
BpaeimL_auDmieT sTens gefluniisendE apria Hnais oBamisst gel_& Qaviuiul Gsrarart ?
A) W gaaw IpPdma paw B) weLy sncipilsgp
C) Ga@as UL yusd pasD D) em’ Haalen sjenpLiLinenenr

. A person who is arrested by police should be informed of the following

i) His grounds of arrest
i) His right to be consulted and defended by legal practitioner
iii) Source of Information leading to arrest
A) (i)alone B) (ii)alone
i) and (ii) onl i D) (i), (i) and (iii)

C) (i) wppb(ii) -G D) (i), (i) gFuw gpsipib
Appeal against acquittal in a case is decided by

A) Superintendent of police B) D.ILG of police

C) District Collector D) State Government

aGsmewrer aupdFan Bsmen Guaupenpui® Ceiiaemnsd Bionefiiiug wri ?

A) sraish seirasrenfiliLiment B) @meust gienp SIenenTgBenavai
C) e’ L syl Bwi D) wrflev SoenmsLD

‘Q’- Branch deals with

A) Idol thefts B) Accidents

C) Extremists D) Police Administration

‘Q' - Afadlar Gasencw
A) Rew Bol Gaer UpBlug B) afuggiasr L wig
C) BalgaunBaeners seameniiug D) aracy Bieursid Lpwgs
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49.

49.

50.

50.

51

51

Who conducts the examination for selection of IPS officers ?

A) TNPSC B) UPSC C) BSRB D) RRB
BEsu D Liend] o5 4 GaifCs@igb Caiasemer FLSg0s wmi ?
A) 1g.e16im. 9. s160. 5 B) u).19.6160. 8

C) 9. ereiv. gy .19 D) gy

Police Personnel Information System (PPIS) is maintained by

A) Modus operandi Bureau

B) Tamil Nadu Police Computer Wing

C) Crime Branch Criminal Investigation Department

D) Special Branch Criminal Investigation Department

Fneush Igyeunisaier ussligpenps gaassamants (PPIS) urmodiiug

A) Qawel wpenn i td B) sfippn sneush senflef] Sifley

C) @ppudfe @pplr yvermiieg gienp D) sefliniie) @ppl ywamieg sieop
Final report is prescribed by which section of Criminal Procedure Code ?

A) 173 B) 154 C) 82 D) 436

Ao sPies Gpp SAangenent wpenpd s gBe s1ps 1Ifaflsn 8
THUGSS I Berarg 7

53,

53.

L

54.

A) s el

With whose order, a police officer can investigate a non- cognizable offence ?
A) Judicial Magistrate B) Deputy Superintendent of Police
C) Thasildar D) Superintendent of Police

sreucd BT wngeLw e Guills 191y dad sming @GHPIB BF Leuer
aflsrgenemr Glewiwsvnth 7

A) gppeflwe FHaT B) ] i & G Aiameni

C) sl méRwni D) ameust seisramessflLimeani

Within how many hours, arrested person shall be produced before Magistrate excluding the
time necessary for the journey from the place of arrest to the court ?

A) 12 hours B) 48 hours C) 24 hours D) 36 hours

. ag Qeiwiul L @t esg Qedwiiul L G sRa@Es fRwSpEBHG A pss

ey Gpipgs Gpob peilisg sibsemen wall CErsBpEsT GopeTush FO pa] pei
u@ssiiu. Geuem @i ¢
A) 12 iend B) 48 wenf) C) 24wenfl D) 36 wewf

————————
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55. The appointing authority of Sub-Inspectors of Police is
A) Dy. Superintendent of Police B) Superintendent of Police
C) D.I.G of Police D) Director General of Police

55. 2 gafl gyuieunarisenar Blunoemh Qaviuph syPasnoh Cammeit_euri

A) gievewr snausd &ehrarendliLmeTit B) anaus seimsrendlumend

C) snaus grenens : D) aresh greop Quid@pi

56. A Police Officer, who is on compulsory wait can avail joining time to join his new post for
A) 6 days B) 7 days C) 2 days D) Nojoining time

56. &l nud ang@asliie o sirer g5 @y e LB ugailuilsy Car sraiarena) pm’ ser
iR dgId Glamnsrersumb 2

A) 6 gl ser B) 7 mrc aer C) 2 pm”meir D) eisiafsvena

57. What is the time limit to prefer mercy petition ?
A) One month B) 3 months C) One year D) Notime limit

57. s@enent wepidaer swind@id pUT aidsenar B @ e i s Gousim@ib o

B) cpsigs wagdiasi

) 96 @6 D) arew euibey Reve_uingy

JuTNIH] @LNM_!&@?@&U aﬂ;ud&mms GTGLISUGITEY BITL HeiT U AETNINIEA] T )

A) 24 L;:n,sriua;eh B) 12 wngriser C) 6 wongmissi D) s wrsn

59. Medical History Sheets of Head Constables shall be in the custody of

A) Station House Officer B) Sub-Inspector of Police
C) Station Writer D) Circle Inspector
39. gewwenns snaumiseler g awrpy a@ads — aush G@és Gars@ib
; A) Blerevw sraie sgyaisvit B) enmiy-sydieunenit
C) Pevaww ergpdsi D) anli. gydrsument
i 60. Which of the following reward is not awarded to Sub-Inspectors of Police ?
A) Good Service Entry B) Meritorious Service Entry
C) Money reward D) Both Aand C
60. Bppasin_aupded 2 gaf gyuieuneniaende aprisuL1s Gaignd s o
A) ppussilt LBey B) Quéss s@is Ll LBay
C) wemr Qeugn D) A wppnb C

|
|
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61.

6l.

62.

62.

63.

63.

65.

65.

An accused committed an offence of house breaking by using false key. The M.O. classification is
A) 11 (K) B) 11 (C) C) I (N) D) 11 (V)

96 @GHpauel sedrend anafwmed wile g Bppsi Bpig.ered, g TES GO
arema LT 1.6 @GO EEw Cauairid

A) T (K) B) 1(C) C) I (N) D) (V)

Intimation about the arrest or detention and release of MLA's, MP’s should be sent
immediately to

A) Prime Minister B) President of India
C) Speaker of the State Legislature/Parliament. D) Chief Secretary to Government

g1 naTn o P Ternt wHoiD ungrestocp o pinfeniaen enag) Qediuiu@inGumg
g el@same Qeiuliu@bGuig oL eTyuns Ripiaci 9HUBHSG SaHaID
Gsfafdali Gasm@ib

A) osio wHE i B) @uywoss seaverit
C) UL FenLt/LIngmEHLeTD sungrusi D) opss senwenio Qewsvmart

Which of the following sections of Indian Penal Code deals with the offence of
“Dowry death™ ?

A) Sec. 304 IPC, B) Sec. 304 B IPC.
C).Seet 304:AIPC: D) Sec. 498-A IPC.

setr_ap e @FPw sedn_eend ot L) My “oumLsement myflb"u;ﬁmﬂ
SAS@F 51 ? ]

Sifey 304 G52 B ]LY

) 304-A @55 D) iy 498-A @.5.5

_ Disclosure of Identity of a victim of rape is punishable under which of the following sections 2

A) Sec. 376-A IPC. B) Sec. 377 IPC.
C) Sec. 228-A IPC. D) Sec. 509 IPC.

. spufliy Gpprsels UTREsULIL LT ot e wirarh Gy L.

Qaualliu@sgise Spse s1bs Aiflefer &p @pptb ?
A) Gfey 376-A @).5.5. B) 9dey 377 @.5.4.
C) Sfey 228-A @).5.5. D) 9fey 509 @).5.&

‘A’ commits trespass entering a graveyard and offers indignity to human corpse disturbing the
persons assembled for the performance of funeral ceremonies. ‘A’ is punishable under which

of the following section ?

A) Sec. 427 IPC. B) Sec. 296 IPC.

C) Sec. 503 IPC. D) Sec. 297 IPC.

‘o' ereitp pUi @ @S 1ggET 255D pieowphs ‘wefls 11Cosdens Sano@iiy Qadigib,
SRl gP e FiosFLmIGameTd QoIS DH G s Falg U ST EHE S @ e gm
afenarafla@pri. Gupuig ‘o pule Geumres Fipaneyiib e1is ANl B1p @pob ?

A) ey 427 @).5.5. B) 9oy 296 @).5.5.

C) Oiley 503 @).5.5 D) Wifey 297 @.5.4.
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66. Sec. 494 of the Indian Penal Code denotes which of the following offence ?
A) Bigamy B) Adultery
C) Prostitution D) Criminal Conspiracy

66. 1fiflay 494 @591; sewL_enend FI_L b Bipansmih erciaenswiren @ppsBener @G Ens 7

A) GGV LD 9 o uigpier @ s CunGs Bsm@ub Bsoemnb ez
B) weop Gpipps yemish
C) afussnmp

D) @ppurm 5

67. Which of the following sections denotes the offence of ‘Unlawful compulsory Labour® ?
A) Sec. 373 IPC. B) Sec. 372 IPC. C) Sec. 374 IPC. D) Sec. 375 IPC.
67. Bpangnib 9feyseley erps tIfa) “sl L yianspp & mu o enpiin]” @ppsRenar upd
GRS eADg ?
A) dfey 373 @).5.4. B) ey 372 @).5.s.
C) dfey 374 @.5.4 D) ifey 375 @).5.4.

68. icon in any building used asa plag of worshlp in the state

of Tamil Nadu is committed, undef wmch of the ﬁsnmm
'A) Sec. 382 IPC IPC
| ©) Sec. 380 @) IPC

. FEAPETC 146D oG ThE Pub HL-LLLD gmﬂ@wms LGt 5550 LG RpGan,
M o dror aNE R msens Guin yfwwg; P argagensGun seranr@n
Glewsvneng sips Bpargmnd tideler 81p sonydassdag |

A) fley 382 @).5.4. B) dfley 379 @).5.4.
C) ey 380 (2) @).3.+. D) Afey 381 @).5.4
69. Which of the following punishments is not covered under Sec. 53 of Indian Penal Code ?
A) Death Penalty B) Solitary confinement
C) Imprisonment for life D) Fine

69. Bpargpib sehn_emersalled sips ge_ear ifley 53 GEFw san_aend s LGB
GRS LuLTS gt ?
A) ges FedwL_enen B) saflwns Renpesailiug
C) wyuyeir sevwi_snen D) s

70. Whoever by words either spoken or written, brings hatred towards the Government established
by law in India is called

A) Affray B) Rioting C) Sedition D) None of the above
70. @pBwreallsh s g Poeuls Qupp spfener Gensbaiun’ L sebaig sTapsiLc.L

Qenpaer apevions Qeupiliydg o sramagRp @Gopb adan sepssiuGRps 7

A) sdsgey B) saah alenearalgsed

C) wyosdgGonath D) GuopGlenararency a1giayh GLIms kST
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71.

7L

72.

72.

3.

73.

74,

74.

Sec. 188 of Indian Penal Code denotes which of the following offence ?
A) Disobedience to order duly promulgated by public servant

B) Affray

C) Causing Hurt

D) Public servant receiving bribe

Iiley 188 @pBw peim_snend o b s1is @ppiBenan LpA GG R e ?

A) Qurg samflurgned gpenpuwns eRembudiun’ L RO AL dadGé BLpliLig urenn

B) #denay

C) snuwih afleneraiiiiLig

D) s aamfui eoghoin aumdieng

Whoever escapes or attempls to escape from any custody in which he is lawfully detained for
any such offence is punished under which of the following sections ?

A) Sec. 212 IPC. B) Sec. 222 IPC.  C) Sec. 220 IPC. D) Sec. 224 IPC.
steugnufiggib s AP wnad snaisilsy adSLILIL I (FEGLD LNGIETIY aFelaph 0155
SRS GLILI wpwgyth GLimg Bpangmib srhs fallaflay Bip sedmg dan IR ?

[ B) Wiey 222 @).5.4.

C) dfey 220 @).5.4. D) wfey 4 @m0
Sale of obscene books etc., is déalt undér whic e foll L¥

A) Sec. 300 IPC.  B) Sec. 292 IPC.  C) Sec. 290 IPC. D) Sec 295 IPC.

A) dfley 212 B).5.5.

SLTF L;,&i_aas:%:a.ai'r ailpuenear Gladigey upseilwer sis Grpangmin tiflailssr S
@O O Bereng ¢

A) diley 300 @).5.4. B) wdday 292 @).5.0.

C) Afay 290 @).5.5. D) ey 295 @.5.5.

Sec. 170 of Indian Penal Code deals with which of the following offence ?
A) Punishment for cheating by personation

B) Punishment for cheating

C) Personating a public servant

D) Assisting in concealment of stolen property

ey 170 QEBw sem_enend s1°1 b Bpangmith sips GppiBoar GG Epe 7
A) syenonpm’ L ggmey TOTDDIUSD & &L enes

B) swnppicusn@s seim_enen

C) Qungt senflwenyis Guined syeir tmpm” L_th Glaigen

D) BaL@ Qurgener wepliuspe o sal Qadiged



216 (I

75. Act endangering life or personal safety of others is an offence under which of the following

sections ?
A) Sec. 335 IPC. B) Sec. 336 1PC.
C) Sec. 337 IPC. D) Sec. 338 IPC.

75. 2 ufBEE g wHpaiEelst oL PLISETIIDEG SLTuLD alenenalléFp Gauens s1bs
Bpanggid HMefelsh gppth ?

A) 9fey 335 @.5.4. B) ey 336 §).5.4
C) 9fey 337 @).5.2. D) fey 338 @).5.4.
76. Unnatural offences are punishable under which of the following sections ?
A) Sec. 376 IPC. B) Sec. 375 IPC.
C) Sec. 378 IPC. D) Sec. 377 IPC.

76. @upensdE wIpIeT GDPEEST Bpareitd 15 fallsr 8p @ppid 7
A) 9y 376 @).5.4. B) fey 375 @).5.¢
C) fey 378 @).5.4 D) ey 377 @.5.4
77) Act of a child under How many-years of age is not an offence ?
A) Under 7 years of age B) Under 8 years of age
C) Under 9 years of age y Cage
. g UBHGL UL 90 GPEDE BiTa a5 0L G Epg 7

A) gup auBperuce B) el awBp@:
C) geg awEpGLr D) gy awBp@tuc e

78. When two or more persons by fighting in a public place disturbing the public peace is said to
have committed the offence of

A) Causing Hurt B) Rioting
C) Assault D) Affray

78. @ueim® HOWE ABDHE Guopu L suisst g5 Cung GLsBa serren Lt GBS ppauid
Qung sewBews GamadEd Gurgl sauisst Bipangmib s1hS GPPFISS yR&pniser 7
A) &mwih 2 eRIL_THGHEN B) swah allenerailggse
C) snagge D) adsua

79. Under what provision of law a Police Officer may seize any property which may be alleged to

have been stolen or which may be found under circumstances which may create suspicion of
the Commission of any offence ?

A) Sec 91 B) Sec. 102 C) Sec. 100 D) Sec. 200

79. aps Wileler Gip arasd sgraet BGLOUC G @iusns GerdaiL@h S
B lul yGlugns spGsalL@h ShE Quingpenanyib (Sisbegt)@ppib aBGseih
Qi Gererseimih #3CssFes o L THGID @ pHlerauich sremwr@Ld Gungener
analippeorid 7

A) 9iey91 B) 9fey 102 C) Sifay 100 D) 5200
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20.

80.

81.

82.

83.

83.

As per Sec. 154 of CrPC every information relating to the commission of cognizable offence
if given orally to an officer in charge of a police station shall be reduced to writing by him or
under his direction and be read over to the informant and shall be signed by the person giving
it, such information is known as

A) Final Report B) First Information Report
C) Police Report D) None of the above

ey 154 @.afl.p. sl liLng a5l Qriisp@iu @ppewrey Ced W g apug) uplu

GeBlaun(s FFAIGILD HTOISDH Hensow QupILiLy SASHUNGFEG aumi Quomfluns
G?am@ém_'.ru@mrrwrrd) T saugnGeur (1) 2 g@Boefeniig Guir a@_ﬁ&u@ge‘; Geusr(ib.
saous Qar@gsalith Ly dai snemiiiss enasGuniun QUpGaIET @D, HbS saaiellen
Gl sTeiTest 2

A) @QoP spfdes B) wpsed gaas sfldema

C) snash sPldens D) GuwGe Ganerer aflen & Gl HSTH
Under Sec. 173 (2) CrPC the Report of Police Officer on completion of investigation is
commonly known as

A) Final Report B) Police Report

C) Investigation Report D) None of the above

it BIGUSD HIGUSUGV Bildidee, Claisufib <) b ew

the p!
A) Sec. 317 CrPC B) Sec. 309 CrPC
C) Sec. 437 CrPC D) Sec. 436 CrPC

@Hpeiluie pen(penpdei LGB Ths el &ip fBemEBDEG LuflFeenar (=1)
efgngener BLsugdenasst erell aIlLZDG (Dvag) 958 eauliughares SFETILD
o esw® ?

A) @ey 317 B) iy 309

C) 9437 D) 3y 436

Under what provision of CrPC, a party toa proceeding may as soon as after the closure of his
evidence can make oral argument and submit a memorandum of written arguments, if any ?
A) Sec. 311 CrPC B) Sec. 314 CrPC

C) Sec. 309 CrPC D) Sec. 320 CrPC

GDpaTc) FenL(LpeD sl LgBe arps iailsh aflergenent apiyfs 1AeHanT auphie
Fhupsiul L ST Qi @omyflu res AUTH@GUTSHDSUID TIPS ApvIoTET
and@anssasuh BF wapsHe Gl#iiweomd 7

A) Bfey311 B) ey 314 C) fay309 D) Sfey320
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85.

85.

86.

86

87.

87.

88.

88.

. Under what provision of the Criminal Procedure Code the Court can order to pay compensation

18- (0

by the convicted person to the victim of the said case ?
A) Sec. 257 CrPC  B) Sec. 357 CrPC  C) Sec. 157 CrPC D) Sec. 360 CrPC

sipg WMeller 8ip o FRwepid e _eneruyh wHmIh BN FEL LanTEIImS S
Glanpéseumb 7

A) 19fey 257 B) 19May357 C) ey 157 D) ffey 360

As per Sec. 438 CrPC, the High Court and the Court of Sessions can grant “Anticipatary Bail”
only in the case of

A) Non Bailable offences B) Bailable and Cognizable offences

C) Both Bailable & Non Bailable offences D) Non cognizable offences

G-ail.p5. s171 19May 438 Ly o wARB DD Lpmh Syomt BB weiipib wpehr gpmibs Kpaeimi
STh QuipdGseiled apmisemb o

A) denarufeh oI upiywing @gppie

B) dBeeniics el danigw wppih enag s EEH &AL @GO

C) Aavanuflsh aS@b wpgih (Lo uinE @ missr

D) ensg Qeiigp@iusdans @mmLb

Section 320 CrPC deals with

A) _fi‘o||1poﬁ]1£i‘ing the offences B) Withdrawal of complaint
G) -Legal aid to the accused Dy Dischargt_: af theaceused
ey 320.@. 9. 1p. #1"1ib|s1an 54 @GR eDS I

A}I Fungnend Gedig Qansresd @pprisener Lip

B) sipismienc Bmirin’ Oumisah

C) @ppib QFiiz FLGSEG HATfer ppaih o gomea

D) @ppib Gadiz pusr elGaidss Lmpd

If the offence is punishable with fine only, the period of limitation shall be
A) Six months B) One month C) One year D) Three years

SO GODFEDG ILngih wi HGi sewr enerwns alEd @b L1 5586 ypenen
aflFTIeRTa (& SIDLISHE TN HIMQITIDL) sicien o

A) mr ongmiEsT B) & wisin
C) g eummi_ih D) eperm eugs diamer
Warrant cases means case relating to an offence punishable for a term of imprisonment

exceeding
A) 2 years B) 7 years C) 5 ycars 2) Not exceeding 2 years

g pyenenr aus@ sTSILIG —_ aiHL misEhd @ Guosh Nennd snalena ST avatuns
Ré5d gda @D UPPW eupdFlened @@L

A) Qoew® eugpL_idiser B) @@ sumi_ib

C) preig sugsLrigser D) epsirpy evgn miasin
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89.

89.

91.

91.

92.

93.

93,

In the contents of charges, the previous conviction of the Accused shall be stated because
A) For enhanced punishment B) For less punishment
C) For set off punishment D) Does not arise

@ppLug@hesuis a@mullch (e e_mareiul LA @i Gersdngu smgesib 7
A) 2B gL ena QUIES B) @enpig sewn_enar s

C) gam_marenus fas D) sips alswnen argesiipth Fevme

. Case relating to an offence punishable with death imprisonment for life or imprisonment fora

term exceeding two years is considered as

A) Summons case B) Warrant case
C) Sessions case D) Not any of the above

. G apsBle geL_anen J15S, Fn@gLh aueng Henp HewL_enat (1) @uesa® e BHE

Guosh FeamL_sment STSITLIGI

A) syenipliLinen aups@ B) 19 uirenes aupd
C) Qeaysirav aupaiE D) GuBe Qansrenear sigioyth QUTGHETS

As pepil of arrest issued by a Court shall remain in force

A) F
16 s
A) Glumd B) sewento
C) unh o cmanio D) Gl Gerdrerenas sigiajtb QUNBHESTSI

. Cognizable offence is an offence in which a police officer before making arrest has to get

permission from

A) Court B) Superior Officer

C) Govermnment D) No Body

“emag Osuiusp@iu Gopb " asug Hrasd gt g g QEiib gpeeri
@i Oois @ind Gup Cast@ib

A) BBwerpid B) Guosh B amf

C) syganmizd D) eraugpiflsvens

As per Sec. 164 CrPC Confessions and Statements are recorded by

A) Sessions Judge B) Judicial Magistrate
C) Sub. ordinate Judge D) Executive Magistrate

@.af.5. s 1b 1Tiley 164111y, GUILBR LHDILD TS EGEPSEISET uley Qeinuu@En FET
A) spwiey FRLB B) fRdgieop @ppalud pE
C) agai sywiey BUB D) Qewsgienp BT
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95.

95.

96.

97.

97.
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Police custody of an accused can be granted by a Court only within first days of
remand.
A) 30 B) 15 C) 45 D) 60

. 90 Gppaunelienw sraus sygyeueiar Gumpiie, FRwepd (s B el

aneush sreublaBayd@er Fre HigwPds Castrd
A) 30 B) 15 C) 45 D) 60

Under the Indian Evidence Act, as per Section 3, “evidence” is of two kinds, what are they ?
pe Y

A) Oral Evidence and Documentary evidence

B) Occular Evidence and Medical Evidence

C) Direct Evidence and Circumstantial Evidence

D) None of the above

@pBw enerpyde b tIMey 3 & Ly “am’ Aund” @QEeimsunEGL — S LTenes ?
A) eumii@uomfl sr Runb gyeuent Frl Blub

B) sewgmipp #rl fwib wmsgen srl Rwib

C) Gy sm’ Runb @phenc sm Huib

D) Guplensrer alenaer Glunsisng

What is meant by “Direct Evidence” under the Indian Evidence Act ?
A) Testimony of the wilnesses as to the principal fact to be proved
B) Medical Evidence

C) “Hearsay Evidence”

D) None of the above

. @BPw eneimdal L gRe erenay “Grog snCSwions E@BLILG 5 ns 7

KT Oossenar o_arer FhIE E ST L 100 an Psefler 2 enps & TEsT
B) w@ssieusn Suih
C) Gasralflenevd ensirp

D) GupGlansien afleni_asenr QunmssTs

What is meant by “Extra judicial confession™, under the Indian Evidence Act ?

A) Confession made by an accused elsewhere, than before Magistrate or Court, to any person
or Body of persons

B) It means confession obtained by police-illegally

C) It means confession made by an co-accused

D) None of the above

@EPw encipd s GBS FRESID FTITS @UILISSRNENT STHIDITE sTeiTeT 7

A) d@weipid (o) ERdgienp pR et sysveng Geugy L Sysbaug FLfsei_Lh
QanebeiL@ib SUIL ST

B) sneush sigyeinred wpepwpp anflufie Qupliun’ . giiysayens
C) ss@ppaunel Qan@agh eLLsgenT
D) Gupenerer eflevser Qunmpssns

[£2
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98.

What is meant by “ALIBI" under the Indian Evidence Act 7

A) Tt means physical impossibility of the presence of the accused at the scene of crime by
reason of his presence at another place

B) It means person flecing after commission of offence
C) It means a person who settles abroad after commission of an offence
D) None of the above

@pBw enegd s L gRa “Gapfiamgh " (ALIBI) ereren@eusiip Quagsiu@b 2
A) afpi sbua @LgBsh @dwrnnd Caupuie P sbualrrsPa Goissrs
FpUILIEILD QUITELD

B) @ppsoms yilpsiel 6 e gelbs Qarsm e sysaamnp Quigsiu @
C) aPi gppsens yhts a6 Qaelipr® CesipelBse
D) GupQensiier aflent_asit QunmbsTS

. “Presumption of Law™ may be classified under two heads. What are they ?

B) sl gpenpunen gewliy, s premire Fenfly

C) sippenpuner giowlli, sipepenpupp Sieliy
D) GupGansrer allen_ser CLmbhETS

. How the “DOCUMENTS" are classified under the Indian Evidence Act ?

A) Public Document, Private Document

B) Written Document, Unwritten Document
C) Legal Document, IHegal Document

D) None of the above

. @BPw s Rwss L R " gerennd” sisiieungy aeELILGSSLILIL Bsrerg T

A) Gung syeusstid, seflwni sy aiewibd
B) srupsUiui’ L gieueniih, STUPSLILI_ TS ShauawTid

C) FLiLpenpuimer i, b, FLL(PENDWDHD eUSTLD

D) Gup@ansrer afentaar GlLim@sbss
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101.

103.

103.

b e R T T
C) Both “B" and “C" should prove the admissio I
D) Both*A*and“B» should pmVC'::m 4
—
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Whether “LUNATIC" is a competant person to testify before the court as per Sec. 118 of the
Indian Evidence Act ?

A) -No- He is not a competant person

B) -Yes- unless he is prevented by his Lunancy from understanding the questions put to him
and giving rational answers to them

C) -Yes- He is competant to testify only in civil cases

D) None of the above

@EBw sneigys FLgRer 9hay) 118 wig “10ga 7 paseunt BB wensHed F FO s meen

B&8 aundipseann o

A) G - BGHuDHDeF

B) gyib - geirefi_ i GBS SILIEGD Casradsdn yfpgid Qansirareyh BB @
LGSsplos@ais u_@ﬂsmm@sn@duﬁﬁ@ HAurg FEgHene Seor_wins @sbevrafiy sb

- “A” Prosecutes “B” for theft and wishes the court (o belieye that “B" admitted the theft o

"C" — who should prove the admission of “B™ ?
A) “C”should prove the admission
) 'fA"musJ,pmme.dwaMmi-i)_n_i -

% " ersirieuii " SIS W51 PPy O s1GE i,

DD S eILIGTL b QUSRS TSI 11t sresr B@wermsens

-
wwu%wsﬁw@& stanr o g gy @i, wmi HbF GBI T uouii T Cauasmr@ub »

A) “&” Quindss Cauaw@un B) "9 Quunsas [ELYE T

C) “g” wpDIth 5" Ghod)fd e Gaavr@in D) “u" wppih “@" Qi ds Geueir @b
Whether a “Police Officer” shall be compelled 10 say from where he £ot information as to
commision of an offence 7

A) Yes - He can be compelled by court

B) No - He cannot be compelled

C) Yes ~ He can be compelled by Defence Lawyer

D) Does not arise

FTaUH 2ygy evewri STRUENTUID @ @ pHmpib qrﬁmdmlr_@,sch_m HEUG eTHeneruyLh ST ) 15
Guppnri sraing, OpMafld @by SLLMUUGES wpigupon o

A) b - BRuwenpszmed

B) wyungy

C) qyib - STB By updapfleramed sy U@Es wpiguyh

D) GupGsneies afeni_ameir Qi mns
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104.

105.

105.

107.

107.

- @DPAPEE BLangdenagellsy s FH@GILD 2 N weT SIGTLISTET FHisE

“A”is charged with travelling on a train without a ticket. The burden of proving that he has a
ticket is on whom ?

A) Prosecution B) The Burden of proof is on “A”
C) Burden of proof lies on the court D) Does not arise

- My Nerduent vwsmEfl g devnosd Quudelles Lwewh QadiFgns @ooib FT L LGS DT,

S @ L Bl enl. eeugDEESTT ereTLIeng Qo g b se wieny FTipsSIELD 2
A) yrEsginied B) Quinfs@ib mevio '3y " eveu amiipssn@h
C) GQuoinid@b senio BB epgens D) Gup@ancrer Gaarad erprg

FTiT S TEH LD
How many witnesses are required to prove the “facts in issue” in a case ?
A) MinimumTen B) Minimum Twenty
C) Minimum Five D) No specific number of witnesses required
PO pdFleh (fgdrenear o dren ariafaenen Hnlda sevevs Gioinlés sgsener sm’ Fuib
Ggeneu 7
A) @episiu b - 10 B) @emisul s - 20

C) @eopEsinn s - 5 D) stésener sm Duth Coeney stem

ool Character”

Qaniyppens sBsiUGELT (Seas) @Eevensvir ¢
A) Gem_iyppsns s@EsOLGLD B) Ganiuppsns smsliu@h
C) Pav GypRoasels Car_iyppsigs D) Gup@ansear efent_aer G5 s s

How the contents of the document may be proved as per Sec. 61 of the Evidence Act ?
A) May be proved by “Primary” or Secondary evidence

B) May be proved by circumstancial evidence

C) May be proved by oral evidence

D) None of the above

@i em Rwéa’ L B FMey 61 1 Ly yeuewrisalsr o drem_dageng s
GodnVgge Gouair@ie ? 3

A) wpgavgr sr RAugsnGeur, @uedrenhar el AudsrGar G ldsamh

B) @pfleows srsig apsvis Qodnddssvmd

C) umiGomyl) er’ Ruib [E

D) Gup@sneren aleni_aer Qung iz

——  p——— e
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110.
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24- (N

Whether a Judge can ask irrelevant question on a fact to a witness during trial ?
A) No - Judge cannot put such questions  B) Yes — Judge can put or ask irrelevant questions
C) No - But he can ask in civil cases D) None of the above

8@ BB wep pGoi s1hs shsBew upfu “Osm_iupp Casraleow’” Ga s wpLgufiom 9
A) wprwng - Osriupp Casrallew Gal' s wpiguingt

B) syb - Qs iupp Caerelenw Gxlsewmb

C) wpywngr - germed o.flenin augpd@aelisy ot @b Gar savmb

D) Cupblendrer alen_ssir GQuimmisngs

. 'When a man is presumed to be “dead” as per Indian Evidence Act ?

A) If he is not heard for 15 yrs or missing for more than 15 years

B) When a man has not been heard for 7 years by those who would naturally have heard if he
had been alive

C) When Death Certificate is produced in the court
D) None of the above

0] oSTET @D BEr eV sTar B Slwspib cruﬂunu mam.h ?

\) et eri@sirarii srer oflLimb 15 ausL ks endie Guosd GaMumse
syeult s newmiosd Guimermey 1

B) ojaui alufgm: e BB G ZE uebeims Gagirall Ll g maa
Fnl WRTEET STLpTe(B) STVFGEIS S Syarengls uM &Mu it
_ Ouodufgsin’ s ma

C) weui @opg el gna snegy B1dGae0 Clauigmed
D) Gup@eneren afleni_ser QLimmpsns

What is meant by “Leading Questions” as per Sec. 141 of the Evidence Act ?
A) The question asked by Judge

B) Any question suggesting the answer which the person putting it wishes or expects to receive
C) The question asked during ‘Re-examination’
D) None of the above

@EBw srepriel L sR LiAey14] 6 Ly afenr QurBeSlerrasr erprc ereier 9
A) pRwepsgne GsL slu@h Gadrad () oflanr

B) elerey®p @ueui gmb Gup afl Gy Sp sy aBiunifleyn allen_smend @pliumey
2 emiiggin e1fs alenmayih

C) gy edsrgensprdilen Gung Ga sluGn Casral
D) GuéGensrer alen sar Qunisns
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111, 173 portion of a tank is filled, with 80 litres water. If its half portion is filled, what will be the
quantity of water in litres 7

A) 120 litres B) 160 litres C) 80litres D) 240 litres

L. 9@ peventi Qgm 1y uer apsiniies @ LGH 80 el i geimenfsLeir Briuiu Gereng).
Qe guiler e UGS BApOILCLLC e, sBgusirer geimenfier sjerey stigsenar S it

G0 7
A) 120 a8 i B) 160 e it
C) 80 el L D) 240 &9t i

112. There are some bananas in two bags. The number of bananas in 15! bag are 1/3 more that of
the 2" bag. If there are three bananas less in 2™ bag than 1°t bag, then calculate the number
of bananas in 1°' bag.

A) 6 B) 9 C) 12 D) 15

112, @rei® evisafa P LIgpEIG ST 2l - (pped evLT@yaiTan LpRiseT @) revnLmaug
eudilgysirar uphiserer afl 1/3 wmig SIBELTGID. Fra_ oy el 1pse enLiufieh
o-gireneng afl 3 umenipliLipmiser Genpauremed, wpse eLUTGISTET LILpEISeneT SenTdH 6.

Byo C) 2 D) 15

113. A ler mixes the two qualities of teas into 4. of first quality
s sells this mixtire of tea at

tea was Rs. 20 per Kg and of the second quali
— s s Cy 15% D) 7 )4 %

A)

113. Gaalit gneir afpriest @aesens o ggrsrmerer Sig 4 aisp eNRssHeb SRERDI. (Lpget HT
Bseli greflsir aflenew ACevralp@ en. 20 -1b, Quein_mb y& grefich aflene RCGavr .30 2y @ 1h.
s th Gadls w grenen HGevn, ep. 27.50 e afgiBe alppred Reni @b
@enru 58 IRz sem@iiy

A) 10% B) 124 % C) 15% D) 74 %

114. Raja starts from point ‘A’ and goes 5 Kms to the North. Turning to right, he covered 7 Kms
distance and again turning to right covers 5 Kms distance and arrives at the point ‘B".
How much is the distance between the points *A’ and ‘B'?

A) 5 Kms B) 7 Kms C) 12 Kms D) 17 Kms

4. @orgn *A* arggnb yereflufish oy mibisg, e Devslicr 5 BCeon B i Glasv@pmi.
ailiudsth Hebid T HBeur 5Lt gnoapis, Beir@ib erevliudsib B 5 HGevr
Bl girupd Qe ‘B agyin ydrellew seni Spmri, yerefl A @ Bagb
@ e Buiujeirer gnmb ereren o

A) 5 8.8 B) 7 &..8 C) 12 8.8 D) 17 8.8
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115. What should be put at the place of ‘X" in the following figures ?
EANEY 2N
. ; P
é’
A) 25 B) 47 .89 M D) 41

115. Spisein_ g X' asp QP Qés Gorsbgu eein ercirer 7

2 2
__ T o o e 2
oA G W BT
<}
i
C) 64 D) 6

116, Gaerals GAEL L LB i ereimenens GALIL GausBLd 2

27 24 | )
19 | 46 | 3|5 2| ]
A) 83 B) 75

C) 64 D) 69
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117.

7.

118.

118.

119,

119.

120

120.

A21,

121.

Which term is not correct in the series ?
15,45,90, 360, 1080, 2160, 6480

A) 90 B) 360 C) 6480 D) 1080

Bpsirar auiilenad Glam_Med gauprer erer g 2
15,45, 90,360, 1080, 2160, 6480

'

A) 90 B) 360 C) 6480 D) 1080 3
<]

A student got twice as many sums wrong as he got right. If he attempted 48 sums in all, how o

many did he solve correcly ?

A) 12 B) 16 C) 18 D) 24

PG wrewas Flwuns Qeig semdgaemar oL @reM@ L 6@ Sewd@ad sopred

QFuig eraTme. ES L 5 48 7 (& ¥ Glerusg)ei 3 ST DITEY, Sjeue OlFlig

sflwner sewd@gsaler aremenfldens aiaauatey ?

A) 12 B) 16 C) 18 D) 24

A coin was tossed two times. What is the probability of its head and tail on the ground ?

A) 0. B) 050 C) 075 D) 100

PG @) (Lpenm Fedwiy di_h_ (o T TR 1Y i aa) Fangufen

iz fu Popgos s 2 I I

A) RS ~ B)os0 BN 075 D) 14

- b (.

Att ought 6 erasers and 2 pens for Rs. 15. If I could have bought 4 more erasers for

Rs. 14 than pens for Rs. 9, the price of a pen was

A) Rs. 1.50 B) Rs. 1.75 C) Rs. 2,25 D) None of these

9@ semsn  fulled preir 6 pluisesh, 2 Guamdsasth 15 esuniideE amii®Gerer. Guorgsth

4 Guenndasr 9 ppLIMIGE aunkIGasDH @ LBns @b 4 piLrss Qurgsts 14esumd

@b Clar@ég aunmmBemne @ Guearrellsr afene sTasauemey 7

A) Rs. 1.50 B) Rs. 1.75 C) Rs. 2.25 D) @eweu stgiaibFevene

The mother of Mohan is double the age of his sister and his father is 20 years older than him.

On the day of the birth of his sister Mohan was 5 years. If at present his sister is 17 years then

what is the age of Mohan’s parents separately ? : a

A) 34,35 B) 38,40 C) 34,42 D) 42,34

Buonaaflsr gmi, syeueh sGangleow ol Guen® wLrg HBs auwgih, sjoemiwu
shong Hauener el 20 evwgib B swpsrarauiasr. Gunasehsr #Ganrsd ks Glumapg
SIS wwgl 5. HCLTpS st sBangMufer ez 17 erepres Cuonseafieir
CupGpriler arug ereiren o

A) 34,35 B) 38,40 C) 34,42 D) 42,34
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122.

123,

123.

124,

124.

28- ]

I bought fruits from the market in a bag. Looking at the bag, my daughter asked me about the
quantities of fruits. 1 replied all are oranges except 15, all are mangoes except 20, all are
bananas except 25, how many fruits are there in the bag ?

A) 40 B) 60 C) 50 D) 30

preir epengledlm s @b uulsh Lpmiaar ammf oG, U LTSS el Lom6T,
upriseller siamenlidamaenw Galner 15 gaily ersbeumih 055 Lpias stspitb, 20
prisens gyenendgih wombLpriser, 25 frisears syemang g h ammenipliLipEser sicipih
a&plGarer. auulellgis Lpiisaler Gwrig cavenfléans ccier »

A) 40 B) 60 C) 50 D) 30

Manohar starts moving to the north from his house to go to his friend’s house. After covering
the distance of 100 metres he turns to right and covers 400 meters distance. Again he turns o
right and reaches his friend's house after covering the distance of 400 meters. In which
direction and how far is the house of his friend from his house ?

A) 500 m, South-East B) 200 m, East
C) 500 m, South-West D) 300m, South

wlerra pemut el hE e, ser alt” 1y.aflmia supionas Gasv@pmi. 100 Bl i
&b Qﬁwp Lﬁwwrr mwu:.uuw Ba@wd 40080 i grogeng sL_dEpmi. WeiE b

eIy L P G}am py pedsrii ot ent_ ,Q{!ml_&pﬂﬂ-diiwuﬁqm B
i i

A bus completes half istance at the speed of 30 Kn

half at 60 Km/he. If the total distance is 20 Km then in what time the bus will complete the
distance ?

A) 90 minutes B) 60 minutes

C) 45 minutes D) 30 minutes

g Cumpg Gedew Caemyw grs8e urBew wenlde 30 8.8 GausdBeyib, 55
unBeow wellde 60 &8 GausgBand sdfpg. Quirgs Qe Gauaingw grmb
20. .18 erafleb ereseuaney wenfl CrogBe Cumis HFs sNIdemps aden ?

A) 90 DB_riameir B) 60 AAsiser

- C) 45 fuil_miser D) 30 glhfl_dismar

. Which of the four numbers given will complete the number series when put at the place of the

question mark 7
2,5,12,27,2

A) 54 B) 36 C) 24 D) 58

. Baperer 4 arewsefleh e1is eredw, ereiw QgmMayener Gaarad @enw isH Cadiub 2

2,5,12,27, 7
A) 54 B) 36 C) 24 D) 58
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126.

127.

127.

128. 1

128,

There are 50 national level players in a college. The college specialises in three games.
9 players play all the three games. 17 play only two games. 5 play volley ball and tennis.
7 play volley ball and cricket. Equal number of players play only cricket, tennis or volley
ball. How many players play cricket ?

A) 22 B) 29 C) 20 D) 34

. 9@ g 50 Gsfu Hyeraild afleerun@Ld wrenraiss 2 eenent. Sifs seogu

apeiny efenaruim Reend@ HpLiy LlpE seféfnst. 9 efeerwm’ (G afnissr gpenm
afenanumt’ Gbalenerwr@at. 17 wremaissi2ellaaur’ Guwl @Gw afenemwr@eui.
5Gur  ‘eunmellume’ whmh ‘QLerefley’ efmerun@eut. TGt anmalumgyih’ ¥
‘AAFCs Gib’ eleenun@eur. s sremenldemauiies gen eflenerwn @ ariser
AfaQs, OLcraflen syewg arelurdy wl.@Cw alemerur@e. srggenen Guim
fR&0s" alenarumBeaut 9

A) 22 B) 29 C) 20 D) 34

“A’ and ‘B’ start from the same place for the same destination and they take the same route.
“A’ starts at 8.00 a.m. and he drives at a speed of 40 km per hour. ‘B’ starts at 9.00 a.m. and
he drives at a speed of 50 Km per hour. How much time will ‘B’ take to catch up *A’?

A) 3 hours B) 4 hours C) 5 hours D) 6hours

A, B @oaeh 01 @i smbdds. =G afliled, Gy G geng Clacipenw
Gasn@ib. A sresw § wesldg GaTma), weldg 40 &. B i CausgPe gL @& pri. B
snena 9 wenfléE ypLiul® waslde S0 &.BCLiF GauisgBe gl @& pri. B, A enas

Lh 2

——
8|6 |4
3
m 16 | 18 |47
23 '|‘
A) 4 Bys. C) 6 D) 8

GO L. eAB e LIS NS Ganein® Bupsirer s 1_F60 sTamamar
srapaLILL Baterer. snefluns o et sl Sms Bolis.

B
8|6|4 K
3 7
14| 16 | 18

A) 4 B) § C) 6 D) 8



129,

129.

130.

130.

131.

131,

132,

132.

133.

133,

30- (VRO

Find the missing number in the matrix
4 3 5 7
7 6 8 9
8 2 12 ?

20 16 28 50

A) 13 B) 14 C) 16 D) 18
Baperer H11_gH& sremiiLL_ng ceimenenT SerR LIy FsaLb.

4 3 5 7

7 6 8 9

8 2 12 ?

20 16 28 50

A) 13 B) 14 C) 16 D) 18

In a family there are five brothers who are not yet married. Each brother has a sister and the
mother alive. How many women are there in the family ?

A) 6 B) 10 C) 2 D) S

S0 GRWUSED Bwemwnang 5 sGangias o sroreni. @aibanrm sGE15104E S0
#Bangfluyh, smuyb o gL eir o ererend. 2fEs GEBUSHD o srer QueiTadT sTdsemen 0

A) 6 B) 10 C)2 D) 5

A clock. ing the time 12 hours 40 minutes. If a mirror s placed in front of the lock.
then what wi ummﬁﬁ%@ rough the mi F
A) IThS20mts . B) 12hes40mis. €) 10

b Gpugeng 12:40 siar an GEpsl. S Hewe ' @it

S BQET g .
PSS UGB, mﬁm%ﬁwawbmmasb @,s:ﬂq
A) 11308 12:40 C) 10:10 D) 850

‘A’ and ‘B’ are real brothers. ‘C’ and ‘D’ is a couple. ‘E’ is the daughter of ‘A’. ‘B’ is the
father of ‘D', The husband of ‘F' is ‘B". The mother of ‘A’ is ‘G". ‘C" is the husband of the
daughter of ‘B’. *H’ is the daughter of ‘C’. What is *H" of ‘F" ?

A) Daughter B) Grand daughter

C) Son’s wife D) Daughter of the daughter

‘A-tb ‘B’ -1b o @wentownen sGanggiser. ‘C -ib, ‘D’ -1b gibuBaer. ‘A’-ar waer ‘E'. ‘D -air
sieng ‘B'. 'F -ar semwauri ‘B’. ‘A’ -éit gyibion ‘G’. waenr ‘B’ - & semeui ‘C. 'C-eir wser ‘H'.
‘F g ‘H ereirer o_pay gpenp 2

A) wasr B) Gus@ C) wseaflar wenswall D) wseflar wser

A shephered had 17 sheep. All but nine died. How many did he have left ?

A) 9 B) 8 C) 12 D) 7

e Guiitiuer 17 Gs6a eneugBBEST. Hupplled geug @ aemeard sally wppeneu
@pigailLen. Bgaperer B ST TEZMET P

A) 9 B) 8 C) 12 D) 7
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134. Ramesh is standing on the bank of a river with his back facing the river. A piece of a paper is
flowing in the water from left of Ramesh to the right. If the river is flowing from the west to
the east, then find out which direction is Ramesh facing ?

A) To the East B) To the West
C) To the North D) To the South

134, pGuey pHuller serrCurIsBe g1 (paIGUDSS gy flep Glaneiry G,
o6 Aflu a1flgs gem® 1Gwafler auwliypsBellnis G siypwrs RN L5Ha

Gea@pg. pPwreg GupRelmig ipdars umdgsns, rGway Crri® s b
Benaenw serr Ly smayLb.

A) Bypée Gpream B) Gupe Crnéd

C) aud Cpra®m D) GspE Crrid®
135. ‘A’ is the mother of ‘B’, hence ‘B’ is the daughter of ‘A’. This logic is

A) Right B) Tllegal

C) Doubtful D) Totally wrong

135. B’ ¢ pyibion ‘A’ . etenBeu ‘A'sir waenr ‘B’ sronGou @)is sidsioneng

A) af =i B) &L aCursinnans
C) #pGpddsisfonens) D) wodaih seipreng
136. What exelation of myself (o the paternal a

huﬁ?” P m
istlf of myy mother D) Aunt

e . o Skt #

136. ereirgyieniw gmiiomosT waeller sHes ol JGess @I aTend @b sTeier 2 pay 7
A) sieng eyl sgens B) gmiiomosr inenemall
C) ershiggrent_w syibronefer Gamg D) sigens
137. In a certain code “TOGETHER" is written as ‘RQEGRICT’. In the same code, ‘PAROLE
will be written as
A) NCPQIG B) NCQPIG C) RCPQIJK D) PCTQNG

137, gw #m1Gss @i’ ye “TOGETHER", ‘RQEGRICT erar srps i’ Geirengs. 3%
T eddflye ‘PAROLE’ e1ps e1@dgidan i na erupsiion’ g @@ 2

A) NCPQIG B) NCQPIG C) RCPQIK D) PCTQNG

138. If ‘POND’ is coded as ‘RSTL’, how is ‘HEAR’ written in that code.
A) GHIJ B) GHIZ C) JIGZ D) ICIZ

138. ‘POND’g ‘RSTL' sreitgy s5Gss @pufi igeb siapPenred oGs @pui e ‘HEAR @ sniing
SI(LPHSUTLD.

A) GHIJ B) GHIZ C) NGZ D) JCIZ

|

=
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139,

139.

141,

141.

142,

142,

-143.

143,

32 (I

A peon told his friend, “The bell in the factory rings every 45 minutes. The last bell rang 15
minutes before. The next will ring at 3.45 p.m. “At what time the peon gave this information
to his friend ?

A) 330 p.m. B) 2.45pm. C) 230 p.m. D) 3.15 p.m.

PO A s 2 gawnent ger pesmife b, @)Es yerevuien i 45 MO FBDG 9
e geflé@ih. sevf sy 15 AOLFEDG wpaysner 9elldss. HFRHs ouiE wrene
3.454@ galld@b arepy amflenmi. Sfs NG 2 galluTai ser pewLGHEG @)Hs
aflapwgeng erggenan oenfld @ Glansierni 7

A) 3.30p.m. B) 2.45pm. C) 230 p.m. D) 3.15p.m.

. If R is ranked second and Q is ranked fifth, which of the following must be true ?

A) S is ranked 37 B) Tisranked 6" C) Pisranked 6" D) V is ranked 4"

- R @Quem ez Qe gile Qaisre wppih 'Q" mpsreg @B Gapsre,

Bpsasm_supiley 15 sflwnersrdms @ 2
A) 'S apeapraig @)LsH oerars B) ‘T' sypreug @)L g@e o ereng:
C) ‘P gwraum @ sBev 2 ererg D) ‘V'mrswameus @)L g@s 2 sireng

B) Raghu. C) Anurag ;
A) sywmb  B) g@ C) sisnyns D) amb

Ram is taller than Shyam but shorter than Anurag. Anurag is taller than Raghu, but shorter
oo il 2D ASTTE DI TS DS
T Glene ol @sTaro, 1@, rrenio af
Rita introduced Ram to her husband and said, “Ram brother’s father is the only son of my
grandfather”. How is Rita related to Ram ?

than Chotu. If Raghu is taller than Ram, then who is the shortest 7
) jene il 2.wFLh.
G, W r3 b
meui ?
A) Mother B) Sister C) Niece D) Aunt

grento geit semaufl b syflgpad Qeig A, gmller gubifuilen syiun erer gnggrailpe
98y waer ereryy smpflenni. vy Quedlsd, smBpe AL ersirer o pey 7

A) smud B) #CGang C) spemsauyll eCGangdl D) sges

In a certain code language, ‘FREEDOM" is written as GFQDENN. How will the word
STRONGER be written in that code language ?

A) TNSSOFFQ B) TSNSOFQF  C) TSSNOFFQ D) TNSSFFOQ

96 GATL @ Qurglsd ‘'FREEDOM ergyb Ganst ,GFQDENN ereirgy 2 sirengi.
SjLiugerafisy , 5Gs Gl @ Gwmfluiish, STRONGER ergyih Qaned sieraunmy @plasis
Ul GEGD ?

A) TNSSOFFQ B) TSNSOFQF

C) TSSNOFFQ D) TNSSFFOQ
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144,

145.

145,

147.

147.

148.

148.

- @ailuib geing

If “+' is written as *~', ‘'astat ag ‘x"and ‘4 as “+’, then what will be the value of
the following equation ?
7-30 + 55X 1+9=7

A) 205 B) 206 C) 216 D) 256

- e eaepub, x’ &'+ eremayh, ‘g ‘y’ steraib," + @+, arevanp @mssns, BCp

Csn@®dgisirer sier LIM19. 61 @iy eraisausmay o
7-30+5x1+9=27

A) 205 B) 206 C) 216 D) 256

If A+ B means A is the sister of B, Ax B means A is the wife of B.A + B means A s the

father of B and A - B means A is the brother of B, then which of the following expresses the
relationship that *T is the daughter of P’ 7

AYPx Q+ R+S-T B)PxQ+R-T+§
COPxQ+R+T-8 D)PxQ +«R+S+T

A + Bereirugy B -6 gmiens A aremaph, AxB s1eiTLig) Beir inemamad) A stewayib, A + Bersirugy
B-dir oy A eremaqh, A — B, Beir 51019 A sremwayip Q@isned, BCp 2 ciren s1p g GOI® ‘P eir
waer T' e1gpih 0 penas @Pé@ih »

A)PXQ+R+S-T B)PXxQ+R-T+8§
COPXQ4+R+T-§ D)PxQ +R+S+T

. Looking ata r.amansaid“'lhalm’sfatherismyfalher'sson.BrothcrsandsiswrsI
have none”, ¥

portrait was the man looking at ? i
B) Grand son C) Son y D) Fau

LTidgl, @ weligi Gensreng ‘@is @alugBed @as@h pufcr SHeng
16T ke a5 u5) Gl Lomeir’ ) TS G FbINEBer, 5ienms Geny Sleni_wng). erefley, syaut
gelwgBe unizs BLIT Wi 9

A) Grand

A) srgsn B) Gupgen C) waer D) siens

20 men can dig 40 holes in 60 days. If so how many days will it take to dig 20 holes by 10 men ?
A) 30 days B) 45 days C) 60 days D) 75 days

40 gieensenar 20Gur Garigg 60 prmsefeh Gum Wb, oy Qusrprsy, 10GLF
Gariggr 20 sreneonzenar sTaieueTal HrL el Gum_gprgupb ?

A) 30 poiseir B) 45 pm’ ser C) 60 i’ seir D) 75 gm sér

What would be the most useful thing to do first of all if you see a car going at high speed,
which has just run over a child ?

A) Note down the number of the car B) Shout for the driver to stop the car
C) Hire a taxi and try to follow the car D) Inform the police and take the child to hospital

A) anit eresmenent @556 Osnerars

B) el @pers sneny BossCenaad FdaellRge

C) aniena snfsd 2UES snens e Qgm_ s

D) FNUDETTHE S Haarsy Saflgg el @ Glppegenw s sie Loenend @ a@ss Casisve
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149.  Arrange the following words in a meaningful sequence and then choose the most appropriate
sequence from the alternatives provided below :

1. Police 2. Punishment 3. Crime 4. Justice 5. Judgement
A) 1,2,3,4,5 B) 3,1,2,4,5 €) 3,1,4,5.2 D) 5.4,3,2,1
149. Bpsangpib Cenpaeer Qunmenerer aimauiisy anfiena i@ bss.
l. Gundev 2. seweenr 3. @pmp 4. £ 5. fidy
A) 1,2,3,4,5 B) 3,1,2,4,5 C) 5il452 D) 5,4,3.2,1
150. 1/4 of a certain journey was covered at an average speed of 45 Km/hr. 1/3 at the speed of

48 Km/hr. and the remaining journey at the speed of 50 Km/hr. The average speed of the
whole journey is

A) 54 Km/hr B) 51 Km/hr C) 48 Km/hr D) 46 Km/hr
150. prer@ed @ LG LwemGens sansMuns wenld@ 45 5.8 GaagBe a1_ds (LpiguLb.

1 Buwegeons wenflég 48 §.18 GeumdBauth, s psier Liwismgeng enflde 50 &.18.
GausgBauth &Lds wpipuib. g uellsy Cnndgs LiwewsRair sonaf Geusih sishren 2

A) 54 @.b/wenll  B) 51 &.ubswendl  C) 48 8.5/ wenfl D) 46 &.18/wewl

Below are given marks of two candidates P and Q in four papers each. Study these marks
and then answer the following three questions from Q.No. 151 to 153

28 P,Q ergyud @) wresauissir, prsing urL_siseflsd Qupp B G LsHTSGT yeflds LT Hererer.
@Bmis Neramb 3 Gaoralsesde (Casral sraim 151 upsed 153 auenn ) aflen wellde.

wreswari P srer | grer Il | soer I | gosr IV
YL T
v REGe 75 100 80 70
QuppwPcGues | 45 65 50 35
wrervaii 'Q' srer V srer VI | gaeir VII | gaer VIII
SR s &
1oPrIG e 80 5 100 70
GlppE Gl reds 56 44 40 42
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151. Considering the performance of *P’ and ‘Q’ together, who in which paper has put up the best
performance ?

A) P in paper I1 B) Q in paper V C) Pin paperI D) Q in paper VI
151. P, Q @wauder wBuiGuansemenr PUITL®, wri, s1fs un_gBe 1NsRpliuns Gg a8
Gupusirani e1emds. pia.

A) P gmar 11 & B) Q gner V ab C) Pgnarleapr D) Q sneir VI &b

152. How is P's paperwise performance ranked best to worst ?
A) IL LI, IV B) L IL 11, IV CyILILLIV D) IV, I, 11, M1

152 wm_th aurdluine Puller w@o@usiaenen, ha Hpliimers wpsev s Giomainmeng
ausngiiguib staieuny arfenswns spifi_svnih

A) IL LIIL IV B) L II, III, IV C) ILIIL 1, IV D) IV, L 1L 1

153. Considering the performance of P and Q in all the papers
A) ‘P’ has done better than *Q’ B) *Q" has done better than ‘P
C) Both have done equally well D) Ttis difficult to say who is better

153. P upb Qayib arais

accordingly from dfiongst the alternatives provided for the following 5 questions from
Q. No.154 to 158

Wind is an inexhaustible source of energy and all acrogenator can convert it into electricity. Though
not much has so far been done in this field, the survey shows that there is a vast potential for
developing wind as an alternative source of energy. The wind survey has four components, —
direction, duration, speed and distribution. On this basis U.P. hill areas have been found an ideal
place for setting up acrogenerators. In U.P. hills alone, as many as 58 sites have been identified.

88 9@ OBm_@ib BT L Hy@noTeTHISEE SyeREslLC. Hererer. @apenp uiPevenes
Qo 9ereugmin 5 Coerallnends e werssab. (Gaeral credr. 154 upged 158 auenp)

anppi, Bigg Guinsng. BewiB@méiss euagw FEB ST ppTETIOAGLD. g
aCGongamGr’ i BerssBuna wapy R pe. Qégiopdists HBawrs WYuHH Qsdwuns
CunBguib, anppr, wrHoissRuns LustL@h Bpeiciangns syuieser spifeTpen. FApenD
upplu guiie) Freig LGHL Quingsrsenars Qe g -Pea,snew @err Ceuad, Geausib,
uRipseiiy. @aer syylue e o, . wawiu@gRaa aGrrgearGrl L isamaer
(smppleallmig e 2 HLSH Qeviuyh @uiBsissner) QunmigispEiu Apis @ sisens
aewfluls u @eirerer. 2..19. weawsellsh wi b 58 @) s Ggiey Gednuiiu Gererer,
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154. Only the hilly areas of U.P, were surveyed for setting up acrogenerators.
A) Data inadequate B) Definitely true
C) Probably false D) Definitely false

154. snppr Ber 2 pusH GQuiBumaener B 2. 95Css werawiLigRaer @G
FemFClaB St Ll Gererer.

A) spawe SunBu seranersse B) Réswions o efmenin
C) apdsmyp suprgb D) Ré@uiwns sagy
I55. The survey was conducted under the government of UP.
A) Definitely true B) Probably true
C) Data inadequate D) Definitely false
155. @)is semd@s@ULy 2..19 srfemme Guop@ansiramtini i gngib
A) Péswcns Fif B) efluns @uéa aumiiciyeirens
C) saaush Gung tonergsa D) déPuions seugy

156. Wind, as a source of energy, can replace exhaustible sources of cnergy
A) Definitely false B) Probably true

156.

ALy eTeTg) b) ﬁ};hmmﬁi il

157. Energy by wind is a comparatively new emerging field.

A) Probably true B) Probably false
C) Definitely true D) Definitely false
157, snpflemis Ber o pLisgH Oairoug yBwgsns Gsrergujsen SIDUITEHLD
A) siluns @wés amiilijcrens B) paupra Quée aumicisireng
 O) 2pBuns ad D) e mBwns seugy
158. 58 sites identified in U.P. did not have electricity.
A) Definitely true B) Data inadequate
C) Probably true D) Probably false

158. 2..998gs8560 Gaiay Qi Geirer S8 @) srseflsh lsisnras @Gevdu
A) Béswions &M B) gaeush Gung wrarssiev
C) sluns @upéa aindiciysreang D) sauprs @ués eumdiiiysireng
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159. Find the correct answer Dungeon : Confinement : : Asylum : ?

159,

161.

161.

162.

162.

163.

163.

. Pick the 1%, 27, 4th 5th and 6th Jetters of the word ‘REASONING’, form yet another word !

A) Refuge B) Mercy C) Truancy D) Remorse
aflwnen aflen_sow Baikg a@asad. @@L Lmp : Aenpaunsid :: Lysedi_th : 2
A) sEhoweia@L_tb B) @uésih

C) GoembiRg@M& D D) wer senerdasd iy

and then write the 1%' and the last letters of the word formed
A) OR B) NE C) SE D) ES

. ‘REASONING’ ersinp euniigenguiesr upged, Gramneugl, Bretsnaigl, gbsmels wphpitb

Spreug siipsgissenar 1SS b YPW suniiemgenw o BaunsE Eer e
Sipdangujib, &8 siapdenguLh siupPenes g

A) OR B) NE C) SE D) ES

Arrange the given words in the sequence in which they occur in the dictionary and then
choose the correct sequence

1. Proteinf=2"Problem==3-=Rroverb-d..Property 5. Project
A) 1,2,3,4,5 B) 21,435  C) 254,13

2. Problem 3. Proverb 4. Property 5. Projec
R e L 7 g e e DY3.4,5,2, 1

In a certain code language water is written as food, food is written as tree, tree is written as
sky and sky is written as wall, then fruit is coming from where 7

A) Water B) Food C) Sky D) Tree

an 7505 Qumfluie), B 2 enrey srerayih, o ewrey LTI eTeayLh, toIth auTeTLh sTeTayLh
aumeLh seuit aTeeyh GlameiwL_meb, Lipih sTReSBES eisRns ?

A) g B) o emey

C) eumenih D) wmb

In a ceratin code language Room is mentioned as Bed, Bed as Window, Window as Flower
and Flower as Aircondition means, you will sleep on which 7

A) Window B) Bed C) Flower D) AirCondition

9@ smBas CQumfliless senp s1eitLig LB dens sarah, UGG garars sTaTab, smeTaTe
I sTeTayLh, 1y Gefliengeiid steand GlaneL e, GBI IR 2 nEi@ ey

A) gerared B) u@dens

C) u D) @welisngenn



A

164. Your family is giving many unsatisfying reasons for not marrying the person whom you love,

164,

165.

165. &

166.

166.

167,

167.

38 RO

What will you do ?

A) Twill listen to my family

B) Will be in a confused state and not able to take a decision
C) Twill marry according to my wish

D) Convince my family to marry the person whom [ love

A) GEbUSDeri Glenping BLBgId GlareGaar
B) B@gs GYUILSSILgih, 1py QP is g Berewiligs @)oiGusr

C) aangs Qenps oGy Gsip0s@EssaemiGu web W iGuishr

D) Csii0sMdsaamgGu Loewn(py & &BLbLSBereny FLOWEEE eaids LPwPH CladiGaucr
Make a meaningful sequence using the following codes.

1. Andhra Pradesh 2. Universe 3. Tirupati 4. World 5. India
A) 1,5,3,2,4 B) 2,1,3,5,4 C) 3,1,5,4,2

same way “Disagree™ is related to

A) Crime B) Guilt C) Allegation D) Punishment

‘uren @ ufe e Cam_iysireng) GrLimsd ‘B asey s Qs iyen_wg o
A) sl aCrgwner Qaweh B) @ppib

C) @ppsenpmy D) seiw_enen

What should come next ?

Theft : Confess :: Fault : 2

A) Commit B) Admit

C) Dare D) Mistake

aullensulles oG oss15 ag aurGaisir @b 9

BoL6 : appsems 9sgis0ams : ; GepLn® : o .

A) 2 piBwef B) euyéGamer
C) siemlieyQsmsr D) saigy
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168.

168.

170.

. Al m CuoenL w6t g el sener st 1y &m iy, eTe : Mmﬂl
L0 (615 65 SGanzger e1an dp B orsi. Groen, i &0

“Read the statement given below and select the correct answer,
Statement : The decline of British empire should have spelt the decline of English.

A) The statement is a fact

B) The statement is an opinion

C) The statement is an advice

D) The statement is a prejudice

8Cid Gan@ésul @erer sfdmamu Ly gg slurer aleraw GaihelsEssa)ib.
Sfldens : gyEReGuImaedsr olpsRuneg) shR0sRe alpsRpse sy Canaih
A) syfdemswuneng o awenio

B) syfldenswners ow S nfomuh

C) sifdmsunaig e oCansmen

D) siféerswnerg eniueiren oy iven_ e syens

- Pointing to a man on the stage, Rita said, “He is the brother of the daughter of the wife of my

husband”. How is the man on the stage related to Rita ?
A) Son B) Husband

D) Nephew

ufl

! d'
STLILILY.
C) sigens/wmwer/Rgsliuet/Quiluliue wasr

D) s enlpgsni waer

PATROL is related to security in the same way as Insurance is related to
A) Money B) Protection

« C) Policy D) Finance

170.

Conpgneng ungiemiy e Qe iyewg, HgGunsd sriym e s
Cgmiyen_wg ?

A) uestid B) ungiamiiy

C) amnf' @ $i'iib D) eu@eumus




